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PA Keystone Algebra 1: John Buys Supplies

16. John spends $94 to buy packages of cleaning stipplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

B. How many packages of towels does John buy?
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PA Keystone Algebra 1: John Buys Supplies

16. Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

Page 2-73



PA Keystone Algebra 1: John Buys Supplies

Keystone Algebra 1
John Buys Supplies

Assessment Anchor this item will be reported under:
. A1.1.2 Linear Equations
. Specific Eligible Content addressed by this item:
A1.1.2.2.1 Write and/or solve a system of linear equations (including problem situations) using
graphing, substitution, and/or elimination.
A1.1.2.2.2 Interpret solutions to problems in the context of the problem situation.

Scoring Guide:

Score In this item, the student —

4 Demonstrates a thorough understanding of how to write and solve a system of
linear equations (including problem situations) using substitution or elimination
and interpret solutions to problems in the context of the problem situation by
correctly solving problems and clearly explaining procedures.

3 Demonstrates a general understanding of how to write and solve a system of linear
equations (including problem situations) using substitution or elimination and
interpret solutions to problems in the context of the problem situation by correctly
solving problems and clearly explaining procedures with only minor errors or
omissions.

2 Demonstrates a partial understanding of how to write and solve a system of linear
equations (including problem situations) using substitution or elimination and
interpret solutions to problems in the context of the problem situation by correctly
performing a significant portion of the required task.

1 Demonstrates minimal understanding of how to write and solve a system of linear
equations (including problem situations) using substitution or elimination and
interpret solutions to problems in the context of the problem situation.

0 The response has no correct answer and insufficient evidence to demonstrate any
understanding of the mathematical concepts and procedures as required by the
task. Response may show only information copied from the question.

Non- B — Blank, entirely erased or written refusal to respond
scorables F — Foreign Language
K - Off-task

U - Unreadable
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PA Keystone Algebra 1: John Buys Supplies

Top Scoring Student Response And Training Notes:

Score Description
4 Student earns 4 points.
3 Student earns 3 points.
2 Student earns 2 points.
1 Student earns 1 point.
OR

Student demonstrates minimal understanding of how to write and solve a
system of linear equations (including problem situations) using substitution or
elimination and interpret solutions to problems in the context of the problem
situation.

0 Response is incorrect or contains some correct work that is irrelevant to the
skill or concept being measured.

A. _
What? Why?
t+s=20 OR equivalent
AND
6t+45=94 OR equivalent

(2 score points)
1 point for each correct equation

What? Why?

7 (packages of towels)
[Note: carry over any errors from part A]

(1 score point)
1 point for correct answer

What? | Why?

Since John is buying soap in packages of ten bars, the number of bars of soap he buys
must be a multiple of 10. Since 16 is not a multiple of 10, it would not be possible for
John to buy exactly 16 bars of soap.

OR equivalent

(1 score point)
1 point for complete explanation
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-1

John spends $94 to buy packages of cleaning supplies for a camp. He buys f packages of towels, sach package is $6 and contains 8
towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
siunblies altoaether

A. Write a system of two equations to represent the packages of cleaning supplies John buys.

) Rt i
20=t+s
04=6t+4s

151200
B. How many packages of towels does John buy?

150

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

Because 16 is not a multiple of 10 and the package contains 10 bars of soap.

76 /1000

4 A. 2 points — two correct equations. ‘

B. 1 point — correct answer. Note that no support is required.
C. 1 point — complete explanation.

Page 2-76



PA Key.stone Algebra 1: John Buys Supplies, Anchor Set A-2

16. John spends $94 to buy packages of cleaning supplies for a camp. He-buys
{ packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

—
3 T — e

A. Wirite a system of two equations to represent the packages of cleaning
supplies John buys. )

&L +ls =00
{45330

B. How many packages of towels does John buy?

JIohn  buy?s

4 A. 2 points — two correct equations.

B. 1 point — correct answer.
C. 1 point — complete explanation.
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-2

16. Continued, Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

T+ idnd p6ssible £6c Jehn

16 buy @/ﬂégl p 1€ ég%h
pap  beLOuse  eac
8—0(;:@ a\%é pG\C Séﬁp contonns

|16 b5 ¢ 500p
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-3

John spends $94 to buy packages of cleaning supplies for a camp. He buys f packages of towels; each package is $6 and contains 8
towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
sunolies altaaether

A, Wite a system of two equations to represent the packages of cleaning supplies John buys.

' ,‘.‘51,{';;:-'.-'.{:-::.:.::-:-'.:.::-:-'.-'.:.'-:-'.-'.:.=:.'.:,::‘:~'.-'.=.=:-'.«'.=.‘~:~'.~'.'-:~:~'.~'.::~:~'.f.=.::«::.=:~:-::.:.=:-'.-'.::-:~'.:.::~:-'.-'.{,-"!
t+5=20 4s5+6t=04

171200
B. Howmany packages of towels does John buy?

1750
C. Explain why it wauld not be possible for John to buy exactly 16 bars of soap.

it'snbt possible for John to buy exacty 16 bars of soap because if you reentered
it into the equations t+=20 and Bt+4s=94 he would come up 6 dollars short.

156 £ 1000

3 A. 2 points — two correct equations.

B. 1 point — correct answer.
C. 0 points — incorrect explanation.
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-4

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
{ packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of: cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning

supplies John buys.
Gt + 'L_) S = 7LI
b
T t5 -20

B. How many packages qf towels does John buy?
¢lq) +Ulig) =74
A
54 4 do = 749

3 A. 2 points — two correct equations.

B. 0 points — incorrect answer.
C. 1 point — complete explanation .
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-4

16. Continued. Please refer to the previous page for task explanation.

C. Explam why it would not be possible for John to buy exactly 16 bars of soap.

% /ﬂ@c/ e yoﬁ Swf fc’/wéz/zf

0 bars o F Soap 17" vl WE
Can’7.;— g/,_g L/miz_’ Acz/ | myeé % 4 |
S )‘OK Wan jf fc/ Eae ah o/ Vro/.'/&/ '

ba Y ,[e cwMo’ é’/y
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set

16. John spends $94 fo buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Wirite a system of two equations to represent the packages of cleaning
supplies John buys.

T6+5- =9y

B. How many packages of towels does John buy?

7 /A ’ ‘é.;jes

2 A. 1 point — one correct equation.

B. 0 points — incorrect answer.
C. 1 point — complete explanation.
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set

16.  Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exacltly 16 bars of soap.
T+& aet /ﬁo%'b le Lecavst 6@&/9‘#&@
(v &a-‘z5 /6 bafs §<> ,‘,F- [e At‘))/:: Br& /ﬂa@é«é&

o hes (0 T b bys A padsses.
/V-ﬁ 20 bues.
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains_8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

B. How many packages of towels does John buy? Do (’“““"‘?"’%

A-6

2 A. 0 points — two incorrect equations.

B. 1 point — correct answer. Note that the expected correct answer, “7 (packages)”,
always receives credit.

C. 1 point — complete explanation.
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-6

16.  Continued. Please refer to the previous page for task explanation,

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.
T+  woeuld net e poss 5Je
bcc cDe ‘H“\.Lre..— @r-e-  on 17 10 ars
O:Q So P o) each Perel-agt ‘I'F You
' 304’ ‘ tusa Pactages M Lo ld e
' ATY boa s, Sa fH,md_ s 9 }4_2- i+ s
Gy F:s:,‘ lglC‘ |
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-7

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

L + 4 =20

B. How many packages of towels does John buy?

auf,
1S . Lb

Tonn buys 1S packoges of
Jonels,

1 A. 0 points — one incorrect equation, “6(f) + 4(s) = 20”.
B. 0 points — incorrect answer, “15”. Note that this is neither the expected correct

answer nor based on a system of equations in part A.
C. 1 point — complete explanation.
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-7

16.  Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be pdssible for John to buy exactly 16 bars of soap.

T+ is not possikle for Sonn fo \o\,\\}
exocky \lo bors of Jooe becam3e
e0ch hoy CONES W 0 PoXs, Johny
N arther ouy A boy of 10 secaps
Or & oves of 20 2o, TE Jehnhn
reals Vo BassS 0f a0 he showld
‘ouy Z boxes givmq hina H more rhan

e needs .
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-8

John spends $94 to buy packages of cleaning supplies for a camp. He buys { packages of towels; each package is $6 and contains 8

towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
sunblies altnaether

A.  Write a system of two equations to represent the packages of cleaning supplies John buys.

f20-61+8
20=ds+10

16 /200
B. How many packages of towels does John buy?

120

3150

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

3871000

1 A. 0 points — two incorrect equations.

B. 0 points — incorrect answer.
C. 1 point — complete explanation.
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-9

16. John spends $94 to buy packages of- cleaning supplies for a camp. He buys
{ packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether,

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

Lt 46704
6+ 110520

B. How many packages of towels does John buy?

44/ ¢ 16

1 A. 1 point — one correct equation, “6¢ + 4s = $94”.

B. 0 points — incorrect answer.
C. 0 points — incorrect explanation.

Page 2-89



PA Keystone Algebra 1: John Buys Supplies, Anchor Set

16.  Continued. Please refer to the previous page for task explanation.

A-9

Bfoausf; 1+ cows OM s

SOM'CTH‘“Q

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.
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PA Keystone Algebra 1: John Buys Supplies, Anchor Set A-10

John spends $94 to buy packages of cleaning supplies for a camp. He buys { packages of towels, each package is $6 and contains 8
towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
sinnlies altnaether

A. Wiite a system of wo equations to represent the packages of cleaning supplies John buys.

107200
B. How many packages of towsls does John buy?

iﬂi
12

2150

C. Explainwhy it would net be possible for John to buy exactly 16 bars of soap.

John can not buy exactly 16 bars of soap because he already bought enought '
or only 16 packages of towels. John can only buy 4 packages of soap to equal
$94

156 £ 1000

O A. 0 points — two incorrect equations.
B. 0 points — incorrect answer.

C. 0 points — incorrect explanation.
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-1

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether. )

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

GF ¥ Yszal
\/er§Vi0s =20

B. How many packages of towels does John buy?
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1

16.  Continued. Please refer to the previous page for task explanation,

T1-1

i g o o

J s adk possibig hecasse theve ax o
bvs e eaath paLmage,

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-2

John spends $94 to buy packages of cleaning supplies for & camp. He buys f packages of towels; each package is $6 and contains 8
towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
snunnlies alfnaether

A.  Wiite a system of two equations to represent the packages of cleaning supplies John buys.

B
6+8t=94
4+108=94
161200
B. Howmany packages of towels does John buy?
‘ggj
11 p

21758

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

- R

ecause if John bought 11 packages of towels and spent $94 for his total, then

here could not be any way that he got 16 bars of soap instead of 8. Unless there
s a sale or the prices were changed.

199 /1000
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-3

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether,

A. Wirite a system of two equations to represent the packages of cleaning
supplies John buys.

QL + 18 =10
bt + U3 = G

B. How many packages of towels does John buy?

“lpactecgs
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-3

16. Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

becuse Hn, 1o wake aoor tated WU
WOl R o by S OCIIS  OF  fegupl

LWReh Gl Mope |
Of Cleowiing Oducts. o 2l Pactoogy
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-4

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages.of cleaning
supplies John buys.

+ 5= 20 Pcclhoses
Gt +€H§€ i‘oiﬁ‘i

B. HOV\.I many pac¥<a.ges of towels does John iJuy?
John blys M padkeges oF
Jowels,
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1

16.  Continued, Please refer to the previous page for task explanation.,

T1-4

YO b e)QaaHy 16 bars=
*"QY

QSoa

eeanit Iie.
’Lbu}/ & Sl (‘GL$CL

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

T4 wowld net be &)—0«5%/& R '58{\41
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-5

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; ‘each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

eq. (> %,k 0t = QY

eq-2 2 txs =20

B. How many packages of towels does John buy?
John bl T padiages oF tousels.

(o bz x\ =AY
L) =1 {3)=qq

tx5 720
T4\3 = 20
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-5

16. Continued. Please refer to the previous page for task explanation,

C. E;(plain why it would not be possible for John to buy exacily 16 bars of soap.

T wedd et e alble lou\t
&acdly e tors of seoyp
\_oegouu:i Hag Sop o‘ﬁ(Ls cortadrs
1O boxs of) Seop T con
eithon pucenonace ome contatem
ek has 10 so0pL o
2con tedaers whnieh odd up
1 20 boxs ol S0P
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys

t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

T1-6

A. Write a system of two equations to represent the packages of cleaning

supplies John buys.
94=4 (f )
4= 5 ()

B. How many packages of towels does John buy?

Z(eD=45 ygisa=9Y
50

5Ohh br’g Uﬁh+ 7 PO\C'QQ«'Z"C'S OP

+owels
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-6

16. Continued. Please refer.to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

I+ ecoould Mot bz ;poss'r ble ¥or
John +o bUy & bers oF  SOD
btcause eoch Pcvcl/'\c‘je
COY\-!—O\'IHS 10 bars OF SQC‘P'
So WF You bc)y two Pacl/\c:jtS
loF SOGP you uwh il have
20 beors OF 3Soep.
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-7

John spends $94 to buy packages of cleaning supplies for a camp. He buys { packages of towels; each package is $6 and contains 8
towels. He also buys & packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
sunnlies altoaether

A.  Wirite a system of two equations to represent the packages of cleaning supplies John buys.

A

8t +105=20
$6f + $45=$94

221200
B. Howmany packages of towels does John buy?

10 /50

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

It would not possible for John to by 16 bars of soap because it would cost more
han $94 dollars. '

97 11000
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-8

John spends $94 to buy packages of cleaning supplies for a camp. He buys f packages of towels; each package is $6 and contains 8

towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
siunnlies altnaether

A. Write a system of two equations to represent the packages of cleaning supplies John buys.

ot +45=$96

t=20-8
161200
B. How many packages of towels does John buy?
f_‘ijf I L A R Jl

8 packages of paper toweis

26150

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

are 10 bars of soap in each package, so if he bought ore package he would -
have 10 bars of soap, and if he bought 2 packages he would have 20 bars of
soap, (over 16).

244 /1000
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1 T1-9

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Wirite a system of two equations to represent the packages of cleaning
supplies John buys. )

"tz et - . '\i —
<

\ o

B. How many packages of towels does John buy?
cooragls O~ AOWRAS.
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PA Keystone Algebra 1: John Buys Supplies, Training Set1 ~ T1-9

'16.  Continued. Please refer to the previous page for task explanation,

C. Expla;n why it would not be possible for John to buy exactly 16 bars c;f soap.
T QU0 cor= oo Sowk\R
TR, Jonn  dosnx YenR
L ol eco wwh Omovat= O4—

money  to g @acily 1 oA 34
Soaip.
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PA Keystone Algebra 1: John Buys Supplies, Training Set 1

16. John spends $94 to buy packages of cleaning supplies.for a camp. He buys
f packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

T1-10

_— — == T -

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

F- % S=AR0
b s =9y

B. How many packages of towels does John buy?

f ‘?0*./\”\3 oy \'Q\&Q\%'

Page 2-108



PA Keystone Algebra 1: John Buys Supplies, Training Set 1

16.  Continued. Please refer to the previous page for task explanation.

T1-10

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.
TXe WS ’\’0 i leconise Eoan s 0&\\
<o\ O\ io\c,\ﬂﬁx%efa of \0,

Page 2-109




Subject: Algebral iftem: John Buys Supplies

Name

Number Score Notes

T1-1

T1-2

T1-3

T1-4

T1-5

T1-6

T1-7

T1-8

T1-9

T1-10
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
{ packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supphes altogether.

A. Wnte a System of two equations to represent the packages of cleanmg
stpplies John buys.

-6Y
¥
x> W%

B. How many packages of towels does John buy?

Lowe\s

- SOaf@
Y= Q;‘ Y61
\f"u(ﬁ Y:&L\%
\(:\W"J\
¥=20

John bvys %chkaqc_*s of towels
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-1

16. Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

Tt is not pesswle & Tohn b bvy 6
bats of Sup Wewyse The 19 10 bas h
RUch paclwye’. Since (6 s wt a myl ol
of 10 Jéhn ant gt o bars of Soa p,
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PA Keystone Algebra 1: John Buys Supphes Training Set 2 T2-2

John spends $94 to buy packages of cleaning supplies for a camp. He buys { packages of towels; each package is $6 and contains 8

towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
sunolies altoaether

A. Wiite a system of two equations to represent the packages of cleaning supplies John buys.

“I+4s 94

8/200
B. Howmany packages of towels does John buy?

17150

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

It IS not possible for John to buy exactly 16 bars of soap. If John bought 16
bars of soap, that would cost 64 dollars. Then, since he only purchased 20
packages, he would have to buy 4 packages of towels. The 4 packages of
towels would cost 24 dollars. Next, when you add the cost of the towels and
soap together, you see that they only cost 88 dollars combined. The problem is
that John spent 94 dollars on theses items, and not 88 dollars. As you can see,
it is impossible for John to buy exactly 16 bars of soap.

§27 {1000
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-3

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys

20 packages of cleaning supplies altogether.

A. Write a system of two equations {o represent the packages of cleaning
supplies John buys.

115730
b 1y 1

B. How many packages of towels does John buy?

] ?mc\(&%es of hwels
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-3

16. Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

at wouldn't \e p0ssible be the sonp comes in
pockoges oF \0 bars, e winld have heed _/mfhf‘o(

w”h I"r)lc\l,g, (118 H) \ofws of Goop cach, No¥ {0.
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-4

John spends $94 to buy packages of cleaning supplies for a camp. He buys { packages of towels; each package is $6 and contains 8
towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
sunnlies altoaether

A. Wirite a system of two equations to represent the packages of cleaning supplies John buys.

f ox+20
S=4x +20

157200
B. Howmany packages of towels does John buy?

1150

C. Explain why it would not be possible for John to buy exactiy 16 bars of soap.

.John can not buy 16 bars of soap because each package has 10 bars of soap
in them.

8371000
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-5

John spends $94 to buy packages of cleaning supplies for a camp. He buys { packages of towels, each package is $6 and contains 8
towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
sunnlies altoaether

A.  Wirite a system of two equations to represent the packages of cleaning supplies John buys.

20 s+t
04=45+6t

151200
B. How many packages of towels does John buy?

7 packages of towels

20750

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

Because each package comes with ten bars of soap and sixteen is not a
multiple of ten. Therefore, it is impossible to buy exactly sixteen bars of soap,

15171000
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-6

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
f packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

bt +Hs =04
B +(0c =20

B. How many packages of towels does John buy?

eo C%@F@
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-6

16. Continued. Please refer to the previous page for task explanation.

T4 Wb nok e pasgible e Q9w
18 b&? eYorily o Lbors Ok Sooe.
ot e w\log(%% K SaQ
only (O Qacee Ok 1), Yo
(ot g8+ 1o Som 10 WS ot
PSS te. L0l o cipmled) oo
OFC only oYie 1o ger oxes
of (O parS. SO wmultpes of
O like (o, 20,30,400m o
on; bt opet 0.

. i = 1o
m o el [ppip
o | (AR P

X,




PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-7

John spends $94 to buy packages of cleaning supplies for a camp. He buys { packages of towels, each package is $6 and contains 8
towels. He also buys s packages of soap; each package is $4 and contains 10 bars of soap. John buys 20 packages of cleaning
sinnlies altnaether

A, Write a system of two equations to represent the packages of cleaning supplies John buys.

ﬁ
Ot+7=94
Ks+10=20

167200
B. How many packages of towels does John buy?

freiey

4150

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

£ ..
it is not possible for johnny to but exactly 16 soaps because 6 doesnt divide into
94 exactly.

94 (1000
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-8

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
{ packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

\ = =
A. Wirite a system of two equ7a<tions to repréé’sen%/ the packages of cleaning

supplies John buys.
@ Wﬁ‘\/ -9 4
RO

B. How many packages of towels does John buy?

7 pac\a@fs OP

A/aw@\‘:
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-8

16. Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

Recause Yhen vou o & aa
oNér %{M AGA\YZ"S @
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-9

16. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.,

$(ol’:+¢*’1@ Sy

i 16= 20

SPCJ(O FY .10 .-;%)‘l
fo0+*0="¢
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PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-9

16. Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

T4 vonld N6+ be- [X}Sg'blea \aeoowse
each pochese comes Wik den bacs €
Qop S0 1€ you buy ddo POBSES i,

set 20 bocs OF wop AT 16 bace:

Page 2-125




PA Keystone Algebra 1: John Buys Supplies, Training Set 2 T2-10

16. John spends $94 to buy packages of cleaning supplies for.a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning

cupplesSomnbws: (b yg= QY

B. How many packages'éf tovgls does John buy?

o ¥y =0y

Page 2-126



PA Keystone Algebra 1: John Buys Supplies, Training Set 2

16. Continued. Please refer to the previous page for task explanation.

T2-10

L T 0> ot
fO0s¢%1e LOr
Jonnm +0 LY (6

( . 50
508,22
The 2Zpor
Lo 4

plce=S

ot .

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.
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Subject: Algebra 1 Item: John Buys Supplies

Name

Number Score Notes

T2-1

T2-2

T2-3

T2-4

T2-5

T2-6

T2-7

T2-8

T2-9

T2-10

Page 2-128



This Page Intentionally Blank



PSSA and Keystone Exams

Fall 2015
Item Writing and Handscoring Training Workshops

Keystone Algebra 1

John Buys Supplies

Handscoring
Practice Set

*Responses in this set do not have true scores. Apply scores based on
scoring criteria.
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains<g=towels. He also buys
s packages of soap; each package is $4 and contains TG TaEat-eeap. John buys
20 packages of cleaning supplies altogether.

P-1

A. Wiite a system of two equations to represent the packages of cleaning
supplies John buys.

4z 6+ < L0

qél s é..z'-o

B. How many packages of towels does John buy?

Tihn s0yS T packages of fovels
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PA Keystone Algebra 1: John Buys Supplies, Practice Set P-1

27. Continued. Please refer to the previous page for task explanation,

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

Jo’“‘\ Can '\01' Gvu( (ﬁd(‘f‘l le Gar&‘ affoc\f
bccwv\i’( eoCh fackqu has {o bors o F Sovp
2 2 (605 hot a malfipll of (D,
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27.. John spends $94 to buy packages of cleaning supplies for a camp. He buys

t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap.’John buys
20 packages of cleaning supplies altogether.

P-2

A. Write a system of two equations to represent the packages of cleaning
supplies John buys,

BRTL )34~

&) fo? @E'G) Louw!d  brotigglot
His) pele-t) 00

B. How many packages of towels does John buy? Z_ 6
' ¢

3@ =\ pacth= § o) Poclege
3 (Jc)=ZO:<—*Z-b'\OI~°) pocicogyes
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27, Continued. Please refer to the previous page for task explanation,

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

:r.+ uaOLL\d 0ok e Esvibie S

0y CXO.C,-\~ 16 vocs o'?
?>°°‘PJ buy fmﬂ' oA e ont
(0 g’fﬁ' ZO degxn\rB ::3(),@\!63 \}!
rotoeenae ¢ ,0Na
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and céntains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

L +4s =94
{45 =20

B. How many packages of towels does John buy? |
orys=ad  LEAESTL
64_6;% X-4 ‘(’,‘b -

=6

Z

£=3
2 Quckoges of +owel
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. Continued. Please refer to the previous page for task explanation.

P-3

C. Explaln why it would not be possible for John to buy exactly 16 bars of soap.

Eoon Package  has
6 bas N W, 20
One  eockage wil e

IS than 16 byt Hoo

4 L1642t

Pao\aoges will  be gcea&ec
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. John spends $94 to buy packages of cleaning supplies for a camp. He buys:
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

P-4

A. Write a system of two equations to représent the packages of cleaning
supplies John buys.

++8=2p
64 « ¥o=4%

B. How many packages of towels does John buy?
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27.  Continued. Please refer to the previous page for task explanation.

P-4

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

becavse e Packages come i1 Sies
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package Is $4 and-contains 10 bars 6f:soap. John buys
20 packages of cleaning supplies altogether. * - ot

P-5

A. Write a system of two equations to represent the packages of cleaning
supplies John buys. '

=l U5
mej "‘f%

B. How many packages of towels does John buy?

/JO‘\)\ bu%s G, 'Arﬁ“m\ ()]t
packoges o Tawek.
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. Continued. Please refer to the previous page for task explanation.

P-5

peckssts of ()
picksgt, on hay

C. Explain why it would not be possibllor John to buy exactly 16 bars of soap.

ofs o af, 05 Yhey (ame Ih

b huy ety (4

% hyy couythly In i,




PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

Y s =70

o »4ds =96

B. How many packages of towels does John buy?

Yt v4s = 30O
bt .\aqs_ﬁ?é.

2} 2\b

2

Page 2-140




PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. Continued. Please refer to the previous page for task explanation,

P-6

heeds @,

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

Eoch box Condas Vo and Gow e buy
6 bor SN 6 3n W fleTheud, |

Jwt ged

W Vors, whidh §¢ o boxa (£ e

Page 2-141



PA Keystone Algebra 1: John Buys Supplies, Practice Set P-7

27. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning

supplies John buys. 1+ _)‘mm
++5=18 37V 0P
Gt + 3=

B. How many packages of towels does John buy?
John buys 1| podheces of
TOURS
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. Continued. Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

TS woold o e PERSilole seaue Jonn

a\eod \owghir I\ PoConed of
Jrcwt\; and” e UwJ\QQg’n \\ Nekad-
yo ouy T soop PO He v

cedd \lo YORCOLUXE W\ x\ S

nor O |
nok 1¥ Tk AT e onl Wans

o ot o doral oF [ 0esS ot
2000 '\ﬂQ\D&‘(\% e L "PC)&,Y\O.g g
of S .
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. John spends $94 to buy packages of cleaning supplies for a camp. He buys

{ packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of 'soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations o represent the packages of cleaning
supplies John buys.

8l < B +G N
_ 16 pactss
§94= los + 4 (Pﬁ/” \\ea(;“““

B. How many packages of towels does John buy?

qu-fé

9% -

\N

&
H:b\)

| PO«CWS
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PA Keystone Algebra 1: John Buys Supplies, Practice Set P-8

27. Continued, Please refer to the previous page for task explanation.

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

becwge e, hag oalybat Yook
add Up Yo 20 packases 4 ‘Q""_'

S60p Packages £ I dowe
packags:
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. John spends.$94 to buy packages of cleaning supplies for a camp. He buys-
t packages of towels; each package is $6 and contains 8 towels. He also buys
$ packages of soap; each package is $4 and contains 10 bars of soap. John buys
20 packages of cleaning supplies altogether.

A. Write a system of two equations to represent the packages of cleaning
supplies John buys.

% 4N = 20
Ly 4 Uy =W

Yowe) = %
bog * M

B. How many packages of towels does John buy?

Wy My = “H
-y = %
6”"‘"“@ NPRY:
RN R )
W=7l
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. Continued. Please refer to the previous page for task explanation.

P-9

1N \occw.;a& ,3(1\'& sopmp UMy

WioleS
Lomes ‘\f\ &Sﬁ Gc‘ \D (M

Wo d:a;:.-'s\o* o muthiple ol
%en .

C. Explain why it would not be possible for John t6 buy exactly 16 bars of soap.
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. John spends $94 to buy packages of cleaning supplies for a camp. He buys
t packages of towels; each package is $6 and contains 8 towels. He also buys
s packages of soap; each package is $4 and contains 10 bars of soap. John buys

20 packages of cleaning supplies altogether.

P-10

supplies John buys. -
oy +4s =GY

A. Write a system of two equations to represent the packages of cleaning

(o T -
T Z Yowels
S = bOYS OF donp
b1 (8 + 105 -20)2GY
uly 1
: g r 670 -170

720

B. How many packages of towels does John buy?

“So4 A ©f 2°47%0
oy 49 s 70

Y,z ,,ng

S (s *Us = Gu)  W(§)+Usz GY
2 (84 #lor 220) ¥ AUI T
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PA Keystone Algebra 1: John Buys Supplies, Practice Set

27. Continued. Please refer to the previous page for task explanation.

P-10

C. Explain why it would not be possible for John to buy exactly 16 bars of soap.

T4 woold hod be possibre becaust he
bou\gm ¥ vuUy o Jowels already,,
% pacs oF Jorers 1s HE AOlaYY be coue
CGClh Pach O€ yorcis 1S \o dollgrs,
o vory o€ soar Woulal ©qUal Ly

Joll s, (yLMLu; =2, W2 15 over heyg

budges Whiu, s by .
9@4 dollays, s oA ges s
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PRACTICE SET*
Subject: Algebral Item: John Buys Supplies

Name

Number [Score Consensus | Notes

P-1

p-2

P-3

P-4

P-5

P-6

P-7

P-8

P-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.
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PSSA and Keystone Exams

Fall 2015
Item Writing and Handscoring Training Workshops

Keystone Algebra 1

John Buys Supplies

Handscoring

Training Sets 1 and 2
True Scores/Annotations
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PENNSYLVANIA KEYSTONE ALGEBRA 1 Training Workshop John Buys Supplies T1

Page

Score

Description

3

A. 1 point — one correct equation, 6 + 45 = 94,
B. 1 point — correct answer.
C. 1 point — complete explanation.

Nothing is correct for credit in any part. To receive “error carried through” credit
in part B, part A must be a system of equations with two variables in each
equation.

A. 1 point - one correct equation, 6¢ + 4s = 94.
B. 0 points — incorrect answer.
C. 0 points — incorrect explanation.

2 points — two correct equations.
1 point — correct answer.
1 point — complete explanation.

o w»

1 point — one correct equation, { + s = 20.
1 point — correct answer.
1 point — complete explanation.

o>

0 points — two incorrect equations.
1 point — correct answer.
1 point — complete explanation.

om»

A. 1 point — one correct equation, 6f + 45 = 94.
B. 0 points — incorrect answer.
C. 0 points — incorrect explanation.

A. 1 points — one correct equation, { = 20 — s. “$96” is considered incorrect, not
a copy error.

B. 1 point — correct answer, based on “error carried through” from part A.

C. 1 point — complete explanation.

Nothing is correct for credit in any part.

10

A. 2 points — two correct equations.
B. 1 point — correct answer.
C. 1 point — complete explanation.
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PENNSYLVANIA KEYSTONE ALGEBRA 1 Training Workshops John Buys Supplies T2

Page | Score Description

A. 0 points — two incorrect equations.

1 1 B. 0 points — incorrect answer (to receive “error carried through” credit in part B,
part A must be a system of equations with two variables in each equation).

C. 1 point — complete explanation.

A. 1 point — one correct equation.
2 2 B. 1 point — correct answer .

C. 0 points — incorrect explanation.

A. 1 point — one correct equation, { + s = 20.
3 3 B. 1 point —correct answer.

C. 1 point — complete explanation.

A. 0 points — two incorrect equations.
4 2 B. 1 point — correct answer.
C. 1 point — complete explanation.

A. 2 points — two correct equations.
5 4 B. 1 point — correct answer.
C. 1 point — complete explanation.

A. 1 point — one correct equation, 6f + 4s = 94,
6 3 B. 1 point — correct answer.
C. 1 point — complete explanation.

Nothing is correct for credit in any part. To receive “error carried through” credit
7 0 in part B, part A must be a system of equations with two variables in each
equation.

A. 1 point — one correct equation, 6x + 4y = 94 (x and y are both defined). No
8 2 credit if they were not.

1 point — correct answer.

0 points — incorrect explanation.

2 points — two correct equations.
0 points — incorrect answer.
1 point — complete explanation.

oCw> 0w

2 points — two correct equations.
1 point — correct answer.
1 point — complete explanation.

10 | 4

ow»
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